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7.3 Practice Problems
1. State the theorem (or describe how you know) that proves each quadrilateral is a parallelogram.
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2. Find the values of x and y that ensures each
quadrilateral is a parallelogram.
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Prove: QRVU is a parallelogram
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5. Find x and y that proves each quadrilateral is a parallelogram.
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6. Prove that the following coordinates are the vertices of a parallelogram.,

a) J(-2, 3), K(-5, 7), L(3, 6), M(6, 2)

b) N(-5, 0), P(0, 4), Q(3, 0), R(-2, -4)
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g. Given : NRSA/ is a parallelogram
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Prove : ERAM is a parallelogram gav
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